6 5 4 3 2 1

02/ | | REV CONTENT | o | one

>

\
T I T BOM LIST
U | N .
~ ITEM PART NAME Q’ty NOTES
+ i + 1 PLASTIC HOOD 2 ABS
2 SHORT BOLT 2 #4—40
24.99
3 NUT 2 M3
4 LONG SCREW 2 M3
5 SMALL WASHER 2
6 SHORT SCREW 2 M3
30.8
7 METAL WASHER 2 M3
12.0
L W
— | — 2
‘ 14.34£0.5
‘ | 4—40 UNC
IT | T e
|
‘ © 0
| o &
‘ e Short BOLT
e 0 D &
! I ‘ ‘ M3 3 S 4.8
H H N |
N—xu' a2 N |
RS R e o=l [
t=2.3mm | L
S
o m‘ NUT SMALL WASHER
o |
0 . | Van ==u
~ i
| j ' M3 18105 4
. | 3
% M J oos05 |
I 7
= | =~ X A==
| 11.040.5,| SHORT SCREW
16.240.5 LONG SCREW
Metal ITEM | NAME OF PART NO. OF PART Q'TY | MATERIAL NOTE
Total Pitch Tolerances Nominal dimension range L - // DWG SK DATE SIZE | AL ‘UN\TS mm | SHEET/0F | 1/1
In-mm In-mm -
over | over | over | over | over | over | over | over | over | over | over | over | over |over |over |over |over |over over | over (HK DATE — SCALE DP-09C
30| 53|70 | 90 | 1S |150 250 {350 | 0 | 30 | 53|70 | %0 |m5 |50 [200 250 | 0 |O'¢ 0 | 100 | Ve PP DATE w
fo | to | to | fo |to |to | fto | to | fo| to | to | to|to |Fo |to [fto |to |[fto | 10 | q| to | to| 150 NAME DP-9C
530 70 190 | 115 | 150 | 250 | 350 | 500 | 30 | 53| 70 | 90 | 15 | 150 | 200 | 250 | 320 | 10 100 | 150 é
\ KEEN SIDE
720 [£0.25/£0.3 |£0.3507 44 [£0.60[x0.707.85 [+0.20[x0.25[x0.30+0.35[+0 4L+ 0.551£0.70[£0.80[+0.90 0.2 | 0.3 | 0.3 | 0.2 | 0.3 | 0.5 electronics DWGNO
§ [ 5 [ L [ 3 [ 2 1

REV:1.0 FORM: TFO1




